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Reduce the following fraction.

4 2

6 8

2.x 2 2

2.x3 3

3 _6

6 9

3.x1 1

3.x 2 2

12 20

8 15

4 %3 3

4. x 2 2

_6 24

3 4

3.x 2 2 5

3.x1 1

Multiply the following fractions.

2 4 2 8

I S £t L _°

3 5 3 7

2 x4 8

3 x5 15

1

2. 3 4 3
< — — X —

2>4\ 5 8 5

1 x3 3

2 x5 10

3 2g. 5 3

S S 9 S

1>4\ 5 6 4

3 x2 6

1 x5 5

to % 2 6

8 5 18 7

2\4\

1 x3 3

2 x5 10

5. % 7 3
> — Y X ——

4. 5 6 7

2 1

1 x3 3

2 x1 2

% 10 44 15 21 6
> > > >

35 et 15 14 10 35

7 3 5

2 X2 x2 8

7 x3 x5 105

2 5 3

S (| T

2 x5 10

3 x1 3

Calculate the following fractions.

R 3 .. 2
3 5 7 5
(2 5) (7 5)
Lo 2 L 2
3 7 5 7
2 S5 . 10
3 7 21
2 . 5 3 .
3 75 (¢ 1) 7 T2
(2 1)_(5 1)
— X — |=| —x—
3 5 1 5
2 1 2
3 5 15
Calculate the division of the following fractions.

1 .4 3 .4
3 5 8 =~ 5
1 5
— X
3 4
1 x5 5
3 x4 12
3 .5 8 . 5
6 3 6 3
1
3 .3
6. 5
2
1 x3 3
2 x5 10
3 . 6 5 .2
4 =~ 5 6 3
1
3 .5
4 6.

2
1 x5 5
4 x 2 8
10 . 5 9 . 3
3 6 4 8
0 %
RN S
1 1
2 x2 4
1 x1 1 4
15 4 .
2 =6 3 =8
° 15 1

X
4 6.

2
5 x1 5
4 x2 8




)

Reduce the following fraction.

_6 _4
9 8
3.%x 2 2
3. x3 3
12 15
8 6
4 %x 3 3
4 x 2 2
12 20
6 5
6.x 2 5
6 x 1 1
Multiply the following fractions.
12 5 3
3 5 8 7
1 x2 2
3 x5 15
‘4 5 3 4
<X — — X —
3& 7 9 5
2 x5 10
3 x7 21
5 24 3 4
= B 9 %
3& 3 8 5
5 x2 10
3 x3 9
2 3 4 9
\3131 5 6 5
1
1 x1 1
4 x5 5
74 7 3
> —_— X —
3& 7\ 6 14
1 x3 3
2 x1 2
S 3 2 10
> > > >
535 7}4 %Q 4 15 21
3 x3 x3 27
5x7 x2 70
_4 6 _4
77 =<6 (¢ 1) 7 *2
4 x 6 24
7 x1 7
5 % , 2 5 6
3& ( 1) 4
5 x2 10
3 x1 3

Calculate the following fractions.

4 T 3 . .5
5 6 4 3
(4 6) (7 6
T L =
5 7 6 7
4 6 24
5 <7
3 S .
5 =2 (2 - =3
(3 1) (2 1
D= | £ —
5 2 1 2
3 1 _3
5 <o
Calculate the division of the following fractions.
N _r .3
3 5 6 5
2 5
X
3 7
2 x5 10
3 x7 21
N 4 . 5
4 = 5 6 3
1
2 .5
4. 7
2
1 x5 5
2 x7 14
3 . 9 5 . 4
8 =~ 5 6 9
1
3 . _5
8 9.
3
1 x5 5
8 x3 24
< B S 5 . 1
4 8 3 6
3 ‘s
X
4. 7
1
X 2 6
1 x7 7
20 . 4 .
3 =6 3 =8
1020 1
X
3 6-
3
10 x 1 10
3 x3 9




)

Reduce the following fraction.

10 14
15 21
5.x 2 2
5.x 3 3
20 15
8 20
4 x5 5
4 x 2 2
28 35
7 7
T.x 4 4 4
T-x1 1
Multiply the following fractions.
2 5 5 3
3 7 6 7
2 x5 10
3 x7 21
1
4. 3 2 5
<X — — X —
2“& 7 8 9
1 x3 3
2 x7 14
5 i 3 4
O S 9 %
3& 3 10 5
5 x4 20
3 x3 9
to g 5 3 4
\E& 5 6 5
2
1 x1 1
2 x5 10
7 5 5 9
< — — Y X —
219 ‘12\4 6 10
1 x1 1
2 x2 4
39 ‘12 Y15 3 2 7
> > > >
52Q 735 ?6 4 21 6
3 x3 x3 27
5x7 x2 70
3 5 _5
;s (1) | e
3 x5 15
2 x1 2
5 % , 2 5 6
s ua S O B
5 x2 10
1 x1 1 10

Calculate the following fractions.

4 . 3 3 1T
5 = 2 4 5
(4 2)_(3 2)
TS 2 x =
5 3 2 3
4 2 8
_X_Tl —_—
5 3 15
4 3 5 .
573 (3 1) 6 2
(4 1)_(3 1)
o= | 2 —
5 3 1 3
4 1 4
_X_Tl —_—
5 3 15
Calculate the division of the following fractions.

3 .5 .2
2 7 4 3
3 7
— X

5
3 x7 21
2 x5 10
6 . 7 9 . 5
3 5 3 2
2
6 . _5
3. 7
1
2 x5 10
1 x7 7
3 . 9 8 . 6
7 4 5 =7
1
3 4
7 9.

3
1 x4 4
7 x3 21
S . 5 .2
6 =~ 8 6 9
5 ‘s
— X
6- 7
3
5 x4 20
3 x7 21
15 4
4 70 5 2
*15 1

X

4 5.

1
3 x1 3
4 x1 4




